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1) B isthe odd one out because it is equivalent to one half. A, € and D are all equivalent to one guarter.

2)
Equival
Child quive ent v or X Explanation
Fraction
'SelTa ) 1 Selma has multiplied the denominator by 2 but has

12 6 12 X forgotten to multiply the numerator by 2.

Logan 3 Logan has multiplied the numerator by 3 and the
3 - 12 X
2 6 denominator by 2.

Beth 4 Beth is correct. She has multiplied the numerator
49 _ 1 24 4 and the denominator by 4 giving her an equivalent
24 é fraction of 3‘1‘—' .

3
1) o 32 The numerator and denominator are being multiplied by 2 each time.
1000 N s ) :
b) so00 The numerator and denominator are being multiplied by 10 each time.

120
c) 240 The numerator and denominator are being multiplied by | more each time, eg. x2, x3, x4. To find
the next fraction, you need to multiply the numerator and denominator by .

d) Various answers possible. Check that the children have written sequences of equivalent fractions.

would be eating the same amount of cake.

2) Children should explain with the aid of a diagram that each girl would receive two thirds of cake and that each boy would
receive four sixths of cake. They may then go on to explain that two thirds and four sixths are equivalent so the children
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